=
<

a(o @) (rad)
a(d cot(d))

i 107
1072 : 1

[ i : 1072

R AT AR AT AR »

Ratio
Ratio
N

iy

" . 1 H H b 3 q h
-2 -1 0 1 2 3 - -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mKkFit_baseline

—— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3

i
o[
" H
L. o
%

4
%
——
L —

z

oo a,) (cm)

SICEWATL

107 : :: {ad | 1T):

107k
010_% 11 h | P I PR | nananan | nanman | 1 | dhl s 010—2 e bl o b o LD Ll b | AAARARANIM AN A | rala
= : ; b : : = : !
@ H N . 1 q @ K .
x 15 i W I § R H hd 15 b

[y

RO IHEEL B | A0 (MR R
f i i ] ] ! AR IR E R
{’: 13| jrl ] i p i l ]
-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w

=
T

o p/p.)

,_.
<
L

Ratio
N
!

e
-2 -1 0 1 2 3
TP n (PCA to beamline)

|
W



	Contents
	Page 1


